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0 14/ 139 E5E fEule vlaEAAY A
@© w8
(9 %)
S 2013 2014 = 7
: Ay | Aul | e | o) & | AB) | AN | e | o] & | B-A)
2 21.5 13.3 5.7 2.5 22.0 14.0 55 2.5 0.5
% 382 6.4 17.8 140 | 404 72 18.3 14.9 22
A lE 7 A 612 14.4 9.7 37.1 62.7 159 159 30.9 1.5
j"t LA 634 13.9 28.6 20.9 61.9 214 7.8 327 | A15
% 7V & 7 A 519 16.1 114 244 533 18.3 11.0 24.0 14
i w597 13.8 18.9 27.0 706 | 210 10.3 393 10.9
7V 5 8 | 217 12.9 8.1 6.7 30.4 14.3 75 8.6 2.7
B o F| 614 | 236 11.8 26.0 65.1 359 10.4 18.8 37
A | 718 274 13.7 30.7 67.7 327 10.8 242 | 241
7b & v 3| 67.6 338 12.1 21.7 69.7 41.6 132 14.9 2.1
A9 F 5| 656 294 114 24.8 68.2 36.5 9.7 22.0 2.6
;:HL s 1 670 | 268 12.7 275 61.6 | 420 11.8 78 N54
sl AF| 20 | 279 12.1 32.0 72.7 31.8 10.7 302 0.7
7t F| 685 379 114 19.2 69.6 39.7 112 18.7 1.1
4 5 F| 636 | 42 10.0 11.4 70.0 51.7 9.9 8.4 6.4
7V F H 4| 618 | 302 12.3 253 68.3 38.7 11.4 18.2 05
T Hh 343 12.0 15.6 6.7 34.0 14.0 15.6 44 203
z ol | 42 14.8 12.3 15.1 422 14.8 12.2 152 0.0
J?L ° ol | 455 139 13.8 17.8 457 15.8 13.7 16.2 02
;E WEENE [ 436 14.9 12.3 164 | 436 14.9 12.3 16.4 0.0
o 71l 413 2.5 12.5 6.3 413 2.5 12,5 6.3 0.0
7V 5 4 #| 410 163 13.3 11.4 40.9 17.1 132 10.6 | 201
# 7V FE fEAS Agale] E
=1 907
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(T 0 %)
. . 2013 2014 = 7
o AA) | 23| = | 2w | AB) | 3 | =0 | & | (B-A)
s 215 11.0 3.8 6.7 22.0 119 4.0 6.1 0.5
= 382 6.5 3.1 28.6 40.4 9.4 55 255 22
Al E A 612 12.9 9.0 39.3 62.7 12.4 7.8 0.5 15
j{ LA ZEAL [ 634 12.1 8.7 4.6 61.9 16.9 6.7 383 | ALS
é 7F & 7 A 519 8.9 10.9 32.1 53.3 123 11.1 29.9 1.4
a T v 597 9.1 8.0 42.6 70.6 20.0 8.4 422 10.9
7V F B A#| 217 10.6 43 12.8 30.4 12.6 4.8 13.0 2.7
o 5| 614 21.0 14.1 263 65.1 13.5 133 383 37
g AE S| 718 23.6 20.5 27.7 67.7 20.5 14.8 324 | 241
7 & u S| 676 29.6 12.8 252 69.7 337 13.9 22.1 2.1
A Y5 F| 656 193 13.0 33.3 68.2 5.7 159 46.6 2.6
;CHL s | 670 26.8 10.4 29.8 61.6 219 11.4 283 | 254
Fla2FAF| 720 21.8 19.3 30.9 72.7 19.7 18.0 35.0 0.7
7b & | 685 27.1 13.2 282 69.6 23.1 14.0 325 1.1
4 5 F| 636 31.6 119 20.1 70.0 213 13.8 349 6.4
7V 5 % | 618 25.4 14.8 27.6 68.3 223 14.3 317 05
T vk 343 6.8 8.4 19.1 34.0 58 8.4 198 | 203
e o | 422 8.8 73 26.1 422 8.8 73 26.1 0.0
?} <] o] | 455 4.9 15.8 24.8 45.7 6.7 16.4 22.6 0.2
;]i WEEE [ 436 10.4 10.3 229 43.6 10.4 10.3 229 0.0
) 71l 413 18.1 74 15.8 413 18.1 74 15.8 0.0
7V % 3 | 4.0 | 108 95 207 | 409 | 110 9.4 205 | 201
# 7 FEE fEds Aedt] =
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a 14 FEE TP TR(ZAR

12
2,

(91 - 9, %)

i & H

T 2 S7hrF 7 EE TS e Sy AH]) 27+
2 36,715.0 6,571.2 2,581.6 1,173.4 47,041.2
(220kg) 78.0 14.0 55 2.5 100.0
Z 3,269.5 394.5 1,008.3 816.5 5,488.8
(Y/kg) 59.6 72 18.3 14.9 100.0
17z} 742.1 316.5 318.6 615.1 1,992.3
(Y/kg) 37.3 15.9 15.9 30.9 100.0
TR 7R} 659.3 383.5 136.1 586.0 1,764.9
(Y/kg) 38.1 214 7.8 32.7 100.0
=T 1,613.6 632.0 379.8 828.8 34542
(Y/kg) 46.7 183 11.0 24.0 100.0
ke 1,060.4 762.0 3774 1,426.1 3,625.9
(Y/kg) 294 21.0 10.3 39.3 100.0
RERIES 620.8 643.1 186.2 336.8 1,786.9
(V3E7)) 34.9 359 104 18.8 100.0
AR E 1,168.3 1,200.3 396.4 888.3 3,653.3
/3E7T) 323 32.7 10.8 242 100.0
4 n BN 5743 793.6 249.9 284.2 1,902.0
(Y/E7)) 30.3 41.6 13.2 14.9 100.0
SR SHIES 787.3 903.3 242.5 544.4 24715
(V/3E7)) 31.8 36.5 9.7 220 100.0
=7 533.6 584.7 164.3 108.6 1,391.2
(2Y7h) 384 42.0 11.8 78 100.0
] 472.0 563.2 187.8 534.9 1,757.9
(/e 27.3 31.8 10.7 30.2 100.0
i Eoh= 1,260.6 1,657.5 467.6 780.8 4,166.5
(/e 30.4 39.7 112 18.7 100.0
Y 314.1 548.7 104.0 89.1 1,055.9
(/7N 30.0 51.7 9.9 8.4 100.0
TFERAIA) 10,860.2 2,308.2 2,572.1 725.4 16,465.9
(/7 66.0 14.0 15.6 44 100.0
QA1) 864.3 212 183.9 2272 1,496.6
(/7N 57.8 14.8 122 152 100.0
20] 1,298.5 379.5 329.1 389.2 2,396.3
(Y/kg) 543 15.8 13.7 162 100.0
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(1 : &, %)

[e)
i B e o e I
WS EnlE 2,294.9 625.7 516.5 688.6 4,125.7
(/kg) 56.4 149 123 164 100.0
= 4,806.0 1,845.8 1,025.4 516.8 8,194.0
(F/kg) 58.7 225 12.5 6.3 100.0
A3 74414 899.4 1,579.3 1,118.7 11,038.8
(/600g) 67.4 8.2 142 10.2 100.0
R nps 1,782.2 1,249.6 495.1 1,225.6 47525
(Y/kg) 382 26.0 103 25.5 100.0
ok} 206.9 460.0 96.9 141.2 905.0
(Y/kg) 2.8 50.8 10.8 15.6 100.0
A} 2,499.6 557.6 635.9 657.8 4,350.9
(/kg) 574 12.8 14.7 15.1 100.0
H) 1,752.7 669.4 4935 538.3 3,4539
(Y/kg) 50.7 19.4 143 15.6 100.0
= 865.1 672.0 336.0 4449 2,318.0
(/kg) 373 29.0 14.5 19.2 100.0
=] 2,282.9 883.7 645.4 498.1 4310.1
(Y/kg) 53.1 20.4 15.0 115 100.0
pass 1,128.4 536.8 351.2 460.1 2,476.5
(Y/kg) 45.6 21.7 14.1 18.6 100.0
B ose) 4,1359 1,007.1 941.3 513.4 6,597.7
(Y/kg) 62.7 153 142 7.8 100.0
2] 3,496.4 2,037.7 1,379.3 932.6 7,846.0
(%) 44.5 26.0 17.6 11.9 100.0
=3} 5,016.7 2,468.5 2,006.4 1,008.4 10,500.0
(%) 47.8 23.5 19.1 9.6 100.0
2]317) 6,582,437 846,552 1,798,922 2,280,987 11,508,898
() 582 7.1 153 19.4 100.0
%] 127 411,827.9 105,458.2 135,479.0 110,076.8 762,841.9
(95 54.4 13.7 17.6 14.3 100.0
th317] 2,236.9 636.9 811.1 975.3 4,660.2
(5 513 12.8 163 19.6 100.0
Ale 1,148.3 355.1 318.7 409.7 2,231.8
(/107h) 524 15.6 14.0 18.0 100.0
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(1 - €, %)

2013(A) 2014(B) B (B/A)
= [ 5| 2R | ot | % 5 | 20 | st [ % % | 2n
s L T N s T IO O T N B s DO T
P
(kZ) 1,806.7 493.3 2,300.0 1,701.7 4733 2,175.0 94.2 95.9 94.6
(ke) 3,980.0 2,520.0 6,500.0 3,282.5 2,2175 5,500.0 82.5 88.0 84.6
%71—x
2] (]; )} 900.0 1,600.0 2,500.0 665.0 1,335.0 2,000.0 73.9 83.4 80.0
2
o | 2EARR
4 1,000.0 2,000.0 3,000.0 571.4 1,428.6 2,000.0 57.1 71.4 66.7
e | (e
=
(Ek ‘j) 1,675.0 1,925.0 3,600.0 1,494.0 1,736.0 3,230.0 89.2 90.2 89.7
g
1otn
lej;) F 1,794.9 2,405.1 4,200.0 1,056.9 2,743.1 3,800.0 58.9 114.1 90.5
3 A 11,156.6 10,943.4 22,100.0 8,771.5 9,933.5 18,705.0 78.6 91.3 84.6
Hyl=
E’J% 1,400.0 2,200.0 3,600.0 611.1 1,188.9 1,800.0 437 54.0 50.0
22X nj ==
Ligj ]7] 3T 1,333.3 3,466.7 4,800.0 1,222.2 2,771.8 4,000.0 91.7 80.1 83.3
A=
;j;r 750.0 1,750.0 2,500.0 562.5 1,337.5 1,900.0 75.0 76.4 76.0
A=
B4 E( ; 71; 1,375.0 2,625.0 4,000.0 788.9 1,711.1 2,500.0 574 65.2 62.5
= i I
- =)
A ?;H; 766.7 1,733.3 2,500.0 5333 866.7 1,400.0 69.6 50.0 56.0
i BA
T
- M o 600.0 1,500.0 2,100.0 420.0 1,180.0 1,600.0 70.0 78.7 76.2
T}
(1:}) 1,384.6 3,115.4 4,500.0 1,246.2 2,953.8 4,200.0 90.0 94.8 93.3
OJ =
E(i;r 4783 1,021.7 1,500.0 361.7 738.3 1,100.0 75.6 72.3 73.3
3 A 8,087.9 17,412.1 25,500.0 5,745.9 12,754.1 18,500.0 71.0 73.2 72.5
Z=q)
(Tﬂ;) 12,450.3 6,549.7 19,000.0 | 11,000.0 6,000.0 17,000.0 88.4 91.6 89.5
zhe]
ke) 814.2 685.8 1,500.0 814.2 685.8 1,500.0 100.0 100.0 100.0
3] Qo
;]’ ] 1,450.1 1,299.9 2,750.0 1,320.7 1,179.3 2,500.0 91.1 90.7 90.9
2 (kg)
| weErE
° E(kg) ! 23124 2,087.6 4,400.0 2,312.4 2,087.6 4,400.0 100.0 100.0 100.0
224
(‘T(gl 4,572.0 3,428.0 8,000.0 4,572.0 3,428.0 8,000.0 100.0 100.0 100.0
< A 21,599.0 14,051.0 35,650.0 20,019.3 13,380.7 33,400.0 814 95.2 93.7
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013(A 2014(B) i H) (B/A)
= 5 7k + 5 | 28R =7 + 5 | 28R 57F + 5 | &HR
= H]-g-of 7} 4 3 H|son 7} 4 T H|-g-of 7 A
A
5,980.0 3,520.0 9,500.0 6,880.0 3,420.0 10,300.0 1151 97.2 108.4
z (600g)
ek
A ke) 2,013.5 3,486.5 5,500.0 1,5315 3,468.5 5,000.0 754 100.0 90.9
ES
= oFilkg) 592.0 1,208.0 1,800.0 192.0 708.0 900.0 324 58.6 50.0
3 A 8,585.5 8,214.5 16,300.0 8,603.5 7,596.5 16,200.0 100.2 9.5 96.4
Al kg) 2,369.9 1,730.1 4,100.0 2,494.2 1,805.8 4,300.0 105.2 104.4 104.9
H
(kH) 2,064.7 1,735.3 3,800.0 1,744.7 1,722.0 3,466.7 845 99.2 91.2
g
e SHke) 1,487.7 1,512.3 3,000.0 912.4 1,487.6 2,400.0 61.3 98.4 80.0
o ¥ %(kg) 3,859.6 2,640.4 6,500.0 2,085.1 1,914.9 4,000.0 54,0 7.5 615
=
o A (kg) 1,254.9 1,345.1 2,600.0 1,184.7 1,3153 2,500.0 944 97.8 96.2
Egol
ko) 45225 2,699.7 72222 4,070.2 2,596.5 6,666.7 90.0 96.2 9.3
3 A 155593 | 11,6629 | 272222 | 124913 | 108421 | 233334 80.3 93.0 85.7
3 M1 | 36558 4344.2 8,000.0 3,655.8 43442 8,000.0 100.0 100.0 100.0
g | =) | 50384 5,461.6 10,500.0 5,038.4 5,461.6 10,500.0 100.0 100.0 100.0
=
o 3 A 8,694.2 9,805.8 18,500 8,694.2 9,805.8 18,500.0 100.0 100.0 100.0
2 ‘—77
Hj C] 5,288.0 6,295.0 11,583.0 6,595.0 3,691.0 10,286.0 1247 58.6 88.8
(Y5
= A 2271
= i 337.0 293.0 630.0 406.0 314.0 721.0 120.5 107.2 114.4
;d_ (Zﬂ"r_/‘l‘)
2| garlke) | 2,0600 2,702.5 4,762.5 2,205.0 3,522.0 5,727.0 107.0 130.3 1203
i Al
904.3 961.7 1,866.0 1,180.0 1,020.0 2,200.0 130.5 106.1 117.9
(1071
3 A 8,589.3 102522 | 18,8415 | 10,386.0 8,547.0 18,934.0 120.9 83.4 100.5
AARA 822718 | 823419 | 1646137 | 747117 | 728597 | 1475724 90.8 88.5 89.6
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A ehe} =AY A A SEE vl

(2 %)
H & 4 o A d =2 A
57t
EE L] oA [ aw | o | | e o | s BT f g
57 s Al
0 78.2 21.8 13.1 6.5 22 11.0 45 63 S A7 A
71.2 08 163 3.6 29 14.0 33 55 ST A '14.12
wara 333 66.7 179 9.9 389 141 1.1 415 LA BA
36.6 634 189 26.7 17.8 16.3 2.6 445 T EAlE] "14.6
1% 28.6 714 18.6 9.7 43.1 188 101 425 Ak AR 2R w3
A 44.6 55.4 2.0 6.5 269 193 27 334 e AlE ’14.10
T 46.3 53.7 189 9.7 2.1 109 11.0 318 LA A A EA]
ey 48.8 51.2 220 15.2 14.0 17.9 6.3 27.0 755 AE 142
S 320 68.0 17.6 4.6 458 121 33 526 A=t AR 7S o] =)
338 66.2 321 214 127 43.0 32 20.0 ST A ’14.10
s 34,0 66.0 35.1 105 204 13.7 135 38.8 SofjA A oAk
52.8 472 46.3 0.6 0.3 378 38 5.6 75 AE 144
ey | 317 68.3 347 104 232 189 15.1 343 A B
5= 443 55.7 349 11.6 9.2 30.1 5.6 20.0 7 AlE 148
7he 29.6 70.4 404 133 16.7 320 139 245 ke PR B %
CIES 426 574 492 59 23 424 3.6 114 7 >GEAIE 14,11
BE 338 66.2 36.4 10.0 19.8 27 163 412 SN A A%
5= 269 73.1 55.8 121 52 487 32 21.2 F7 e AlE 142
wo 38.1 61.9 42 12.0 7.7 21.6 11.7 28.6 S A %
404 50.6 39.7 74 125 328 31 237 =7 >HEAE 145
e 248 75.2 28.6 10.7 359 18.1 19.7 374 Ak PARZ S w3
39.1 60.9 39.0 13.1 8.8 29.7 6.2 25.0 ST EAE "14.8
o 29.7 70.3 39.5 113 195 23.1 138 334 ke PR B %
- 418 58.2 2.8 92 6.2 35.6 32 19.4 =7 ->HEAE "14.11
gzn 329 67.1 4938 10.6 6.7 145 144 38.2 Ak DARZ S AT
450 55 57.1 35 5.6 40.2 3.6 11.2 ST EAE 142
St 64.7 353 137 161 55 6.6 8.7 20.0 ke PR B et
K 64.5 355 16.7 113 75 135 32 18.8 =7 >4EAE 145
0] 543 457 139 133 185 6.9 8.8 30.0 A DAEZ S A
67.0 33 170 9.6 6.4 13.6 34 160 ST A "13.6%
20l 5.8 472 18.1 145 14.6 7.1 195 20.0 SriA S -2l
64.4 35.6 16.1 117 7.8 9.2 31 233 =7 >4EAE 145
Hpo- 526 474 124 137 213 75 135 26.4 Ak AR 7S ol
EntE 68.2 31.8 19.0 7.7 51 155 35 12.8 ST AlE "13.5%
@) 571 429 233 128 6.8 18.6 8.6 157 SrjA A =3k
64.0 36.0 210 105 45 17.6 34 15.0 7 EAlE "13.3*
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H & 2 oA 3= ZAAY
- =7}
L e oA
TH A | A e el e |2 &= | & ZAN7)
7 A
8 30.6 69.4 275 11.0 309 438 5.6 20.0 S A ot
i [s]
s 277 723 30.9 12.5 28.9 483 32 20.8 7B A '14.6
213 78.7 53.6 9.4 15.7 173 28.0 334 S A Lot
Pl
222 77.8 47.6 20.0 10.2 62.8 35 115 F7REAE '14.6
i 58.0 42.0 125 14.1 154 7.8 9.1 25.1 T A EES
ALY
56.5 435 14.2 16.5 12.8 148 3.0 25.7 7 EAE '14.11
463 53.7 18.1 16.3 193 19.1 10.5 24.1 Tl A ot
Hj
57.8 022 245 9.2 85 21.1 34 17.7 F7HEAE '14.10
) 38.0 62.0 27.4 13.6 21.0 21.1 13.8 27.1 T A A 71F
7}
434 56.6 32.8 14.9 8.9 2.0 3.6 11.0 F7>HE A '14.11
52.1 479 20.9 14.6 12.4 119 134 226 Tl A s
A=,
56.4 43.6 17.9 17.1 8.6 14.9 3.0 25.7 7 AE '14.9
474 52.6 20.7 13.6 183 132 114 28.0 S A MNAE
=
53.8 46.2 229 122 11.1 184 3.0 24.8 7B A '14.12
61.1 389 15.0 15.4 8.5 10.6 10.0 183 S A 4
Hgol
65.7 343 15.7 12.4 6.2 122 35 18.6 7 EAE '14.8
64.1 359 6.1 8.4 214 1.1 3.7 311 T A A
2317]
56.0 44.0 6.2 24,5 133 0.8 1.7 415 77241 '14.7
_ 579 2.1 93 10.2 22.6 13 59 349 T A7 A=
7 615 | 385 10.6 18.4 95 0.7 6.7 311 7> 8- 2 A 4.7
sk PR
56.6 434 16.7 10.2 16.5 10.1 82 25.1
3
217
A7 58.8 412 19.0 135 8.7 15.8 38 21.6
q o
* dn] WY HEAE, AgolAl, AMETsE, 7P| 5
P TuYA 2 * FAE AERA F502 AW AR AR

o TLAFelA AR 5 Pg el fre7d=el e} Aol wola glom, 53] AP R F5H8-E0] 41.2%%
Sl ANAA R FEHEE 43.4% HOb 22%P W o A
- AAYA RS ErjAE R R 2 A ek 2]k S go] s Wb, el A TAdshs 1H R o}
offo] ARl Bl

Q16 | &+ =



B ofeAl Eot A R, ek S
(1 - €, %)
z = Sl 77 B Pt o o
A Z(A) A AL ZB)| SHEB/A) | APFEZ(A) AANEZEB) SHE(B/A)
ey 20kg | 34,033 34,733 2.1 43,500 45,000 3.4
B} lkg 665 725 9.0 2,000 1,980 A1.0
IFAZEAL | 1kg 571 670 17.3 2,000 1,500 1250
i =deds lkg 1,494 1,650 104 3,230 3,380 4.6
a1a} kg 1,216 1,100 295 3,800 3,250 A145
il 27 611 559 N85 1,800 1,060 NA41.1
A | 3] 1,111 1,107 204 3,500 2,500 A28.6
7ReE | 2] 563 625 11.0 1,900 1,467 2228
dss | 27 846 393 N535 2,500 1,460 1416
A N 533 477 A10.5 1,400 1,180 A15.7
LA 7N 495 540 9.1 2,000 1,380 A31.0
7R 15 1,246 1,504 20.7 4,200 3,600 A14.3
455 7N 362 360 2.6 1,100 800 N27.3
Zeab 7 11,000 9,938 297 17,000 15,400 194
2] 7 814 997 225 1,500 1,488 0.8
Qo] lkg 1,321 1,384 4.8 2,500 2,150 A14.0
WEErE | kg 2312 2,334 1.0 4,400 3,420 A223
7] kg 4,572 5,123 12.1 8,000 8,000 0.0
Ak | A 1,532 1,332 A13.1 5,000 4,800 240
&} lkg 192 192 0.0 900 867 N3.7
Abt lkg 2,494 2,800 123 4,300 4,960 15.3
H lkg 1,667 1,964 17.8 3,600 3,400 N5.6
=edy lkg 912 1,025 124 2,400 2,360 A17
A kg 2,085 1,973 N54 4,000 3,500 A125
ey lkg 1,185 1,388 17.1 2,500 2,580 32
o) lkg 4,070 4,304 57 6,667 6,556 Wi
4317 T | 6594936 | 6,490,163 AlL6 10,286,254 | 11,589,819 12.7
A 317] T 401,816 446,858 112 694,194 726,453 4.6
Hts s 3.0 A10.5
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O +5H FFAA=LH]A)

(F 4 %)

T =314 @ 9 2013(A) | 2014(B) | thH|(B/A)
2 A 20kgx 400X )/5EEE] 280,000 280,000 100.0
2] T Al 40kgx 250X /5EEE 400,000 400,000 100.0
= ety HA 20kgx 4604Al/SEES 600,000 580,000 96.7
2| AR | HE 20kgx 450°3A5SEEE] 370,000 400,000 108.1
= e | AR 20kg 34} 2,000 2,300 115.0
gt o= 10kgx 600°3AHSEEE 220,000 265,000 120.5
Rl of Ak 2,70027]/5=EH 400,000 370,000 9.5
Al | 3 2,55027]/5EEH 450,000 470,000 104.4
A 7FrlEe % 2,400 7]/5E=EE] 580,000 550,000 94.8
= A= = 2,4003E71/5=E 600,000 600,000 100.0
N - % 4,50071/5=E 550,000 550,000 100.0
r LA A 5,00071/5EEH 500,000 480,000 96.0
7R 3%k 1,3005/5EEH 580,000 650,000 112.1
AE5F | AFEE 290’7 E oA 400,000 410,000 102.5
Z=u} s 1,20071/5=E2] 710,000 750,000 105.6
3} Zh2 35 15kg’dA} 1,500 1,500 100.0
ol 2.0] 72 10kg’gA} 750 880 117.3
| HEErE | o Skg’dAF 350 350 100.0
) Ak 2kgx2,500 A5 EE ] 850,000 850,000 100.0
] Zﬂ;%— Slacs 60kgPPT] 6,750 6,750 100.0
s I Grls | FE 19kgPETH 1,520 1,520 100.0
&3} Rt 20kgx500'4/5=E ] 550,000 600,000 109.1
AR} 3 15kg(420~450 25 =ES) 1,100 1,100 100.0
3 Hl U= 15kg(450~500 A5 =EH 1,000 1,000 100.0
o ot < 15kg(500~6007 A5 =EH 950 830 87.4
iy A 3 Sk’ A} 500 500 100.0
" Edr=y AHE 10kg(240~480 A el |0 ]L) 950 1,100 115.8
ol = 4.5kg’ ¥} 500 500 100.0
O I A= ST 65,895 69,684 105.8
e | EAR A=t TS 4,697 4,380 933
T ga) A A5 88.9 66.3 746
Qs 3] g 2055737 1,000 1,000 100.0
T npat 165147} 5,500 5,500 100.0
A A A 101.7




@ AW &3

(T 9, %)

o B 2013(A) 2014(B) o] H] (B/A)

2 20kg 500 500 100.0

A = 40kg 800 700 87.5

2k AL 20kg 1,270 1,270 100.0

z} 2|7} 20kg 1,020 1,170 114.7

= 7R} 20kg 1,200 1,200 100.0

e 10kg 1,000 1,020 102.0

il /337 160 150 93.8

LA S W/33E7] 150 150 100.0

o 7l /33E7] 165 140 84.8

Z RSl /337 165 180 109.1

A A 18kg/ZAA 234} 1,170 1,170 100.0

% LA 18kg/ = A A} 1,050 1,000 952

7R s 120 120 100.0

AT 7N 162 165 101.9

= 15kg 1,716 1,716 100.0

J?Jf Q9] 10kg 754 734 97.3

jej_ S Bl E 5kg 560 560 100.0

971 2kg 1,270 1,270 100.0

A 60kg 2,000 2,000 100.0

jﬁ% A k= 19kg 170 170 100.0

&z} 20kg 160 160 100.0

ARt 15kg 2,520 2475 98.2

Gl 15kg 4,139 4,140 100.0

i“ s 15kg 2,205 2,205 100.0
2

= DA Skg 1,100 1,100 100.0

Fd =y 10kg 1,100 1,000 90.9

ol 4.5kg 1,315 1,400 106.5

e 3] 204537 2,144 2,144 100.0

sl =3} 165737} 2,422 2422 100.0

At 99.3

# 2AAY NEAR 7|
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Q@ AdH s

(1 - €, %)

T &7 o 9 2013(A) 2014B) | ™ H] (B/A)
= AL AR
R S RSl 35kg 2,000 3,000 150.0
A=
A 317A} R EREE] 10kg 714 1200 168.1
et A7 8] 5= 94,106 94,106 100.0
¥} 7+ AR ] 15kg 1,500 1,500 100.0
N
F S EnE ikl 5kg 600 600 100.0
k2vd S5 2kg 1,120 1,120 100.0
Axz= A zreln) 60kg 2,500 2,000 80.0
Zm _
_ ! bl o= 7| A 7| kg 400 400 100.0
AT
S} A A 3E7GH] 1k; 107 107 100.0
g
Akt ERaak L] 15kg 1,200 1,200 100.0
Hj S AE] 15kg 2,050 2,050 100.0
7} 7t 35 0En] 15kg 1,729 1,729 100.0
o)
=
S DAS AR A ] kg 730 750 102.7
A S5 10kg 700 800 1143
s S EAE] 4.5kg 1,000 1,050 105.0
2317 T, Zk) 1% 225,669 221,602 98.2
=2} i
b A 317 TS|, ] 17 34,343 29,100 84.7
T
Har7] =AM 15~ 261.8 253.7 96.9
A A+ 105.6




@ sz e fEne

D Y= (91 : %, <l/100kg)
% - v 9

Pov | S| I e e [ S S
- 35.0 65.0 4,865 13,908 9,043 2013
e, 39.0 61.0 8,728 22,377 13,649 2013

Hjj 372 62.8 3,985 10,723 6,738 2013
Sl 432 56.8 6,729 15,583 8,854 2013
Al A] 534 46.6 41,163 77,123 35,960 2013
3} 494 50.6 24,574 49,765 25,191 2013

714 51.1 489 24,944 47,996 23,052 2013
EnlE 494 50.6 23,542 47,638 24,096 2013
Qo] 54.0 46.0 21,531 39,890 18,359 2013
v 503 49.7 33,133 65,367 32,734 2013
£ 452 54.8 22,283 49273 26,990 2013
P 45.0 55.0 7,104 15,774 8,670 2013
it 45.1 54.9 11,037 24,485 13,448 2013
A2k 40.5 59.5 7,071 17,448 10,377 2013
g 47.1 52.9 19,327 41,031 21,704 2013
A}t 45.1 54.9 21,823 48,426 26,603 2013
okl (1435 46.0 54.0 10,174 22,116 11,942 2013
A= (16355 45.8 54.2 11,489 25,099 13,610 2013

A=
# e AR 14

Q9

HA, EEMIPER s MR, B 2547 Rudtiit BB IR B A R B 2L

T8 ke e A A3 (lFs TRl e 7R AR SARE Rl

o
b

20| Apa

o
]
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@ "=

(91 2 %, EEvkes)

i - v

T | BT NS et [ ara | e |
7r 2} 14.7 85.3 0.09 0.63 0.54 2012
B 2 F g 20.0 80.0 0.30 1.52 1.22 2012
¥ A F 212 78.8 0.17 0.80 0.63 2012
E v E 27.0 73.0 0.35 1.31 0.96 2012
s 7] 44.4 55.6 1.09 2.44 1.35 2012
A} 3} 315 68.5 0.42 1.32 0.90 2012
5 % o} 25.6 74.4 0.42 1.59 1.17 2012
Hj 22.0 78.0 0.26 1.19 0.93 2012
' = 314 68.6 0.71 2.26 1.55 2012
e #:oA 14.4 85.6 0.16 1.10 0.94 2012
2 3 7 522 47.8 2.60 4.99 2.39 2012
A 3 7) 30.3 69.7 242 347 1.05 2012

A} : USDA, Fruit and Tree Nuts Yearbook Tables

USDA, Vegetables and Pulses Yearbook Tables
USDA, Beef values and price spreads
USDA, Pork values and price spreads

uxt

83.5

"ot=a} 0| =2 7 SH[EE Hlu,

Apat

78.0

B

053 moj2

80.2

L= Py

P AR 1ad 8wk e dE A A e wah elA = R Al
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